us

an 3% ddl

AlZIE 20| 52X
2E Z230|= = Cjao| 2E
o= Eofutet MBI

SHEUC 7l 9ol 22027t &7170] S2E tixl, &7 1R0H 4 U SoEUT of o
82 Ayt ELict, Mo| A2

O T

57|50 T50[ LRI

HOuoll 2 EI @7t H /X0l #IxI5

teA,
SXOUol IXIsHAl Eluct 2

ot B Eff bolmAgUct oj2t 0|R2 +

e
El7

S7179| AAXI0 M HOX|H, O

b 2IH5E7 | AlAfstE, Ey=Holl 2

HOUME 749 MRICIO) HESIE Neit FU,
oI v
\— MI©O|

v 271o|

— o
i
—

7Hel S30[= Atolof|, 21

82 HE MOMYM UE, H7I7t Haxo2 Maslof

7| &7

clojof =3

DEEHE=E

@ Mol

@ HHE 2=
@ clojoj =

® cloloj = %5

® HZ7 e
[OF-=ib

@ EYUAM 23
©e 84

Hvujz|125 =71
— s MEEA
=
=

T

122

=2{A B
oM gE

T
E
=

s

()

ot 2SS Hi7 (ke U

-2 37|e 288 EA
- 2 74g 2o obg ZYo el 838 EA
e

i I-A-8-A-0

>

HE7I33 2E(5AH)
D2 AN 4y
D2 S 2US
B o7 | 25 £ S (AAE)
e s2x 8 US
l 92 Sa{xAl 23 Ha



® NZ B2 938 S35t P2 B Tl WY
TES A3t POl o(2, UR2E BABI0| BY 72| L4S DafstAY| BrRILICH)
W OIZEAE (N)
w=LE%C 1 x(10.13) P EXAQ] TS (KPa)
101 C: 0| A BT (o)
ORI (1/QRIE)

T &8 GiRle] AZHE)

T=2.303-¢-xKxlog Voo H_Sl M E= B3 L 8%9 S|(0)
S i 51712 BT B H7ISE(0/mn)
P1 L7 (101kPa)
P2 : 3|Ysh= TISUH (-kPa)
K: XS HILo| §50f Te Algs1i~4
Kofl Chai= 21a HEo| s 9 sidists MBw0) nfet et
0 ZAIS BiZ o] HBI0| MAD|L A2 502 e P2, wE Mol 1t ot LM 2+ AUsU

AN IS Bo|, 48 UBE T 42 YUOM AISSHAY| BRI,
=2 23 Yol 42502 ARSI ST 40| B (k0% BU

123



& MES 8 HEE 0[&cts 97 ¢E0l Hotx|a AL 2 oM stfol oE = &1

@ &2 =9 MY i, ot7(9] AMAIS FOSHAZ| HEEfLICH
OIRI1 5719t 22 Al A7i0 P2 Mo BARS Dot Y
IHE9| LHE 50mm
TE 3 @ —533kPa
REERTENN
w=LEXC ¢« (10.13) P SEAQ ZIZY2 (~kPa)
101 C:mEo 2 B (cn)
foQrEA(1/ 2t E)
W=53-§%x 1 x (10.13)=104.8(N)
ofx2. 5719 =M THEZS Fote BF
0|ZE=E 49N
T2 —533kPa
C: =9 S2[HA (cm?)
c=2=2p? D : {=Z(cm)
W: 0|252=(N)
P EAI9| ZHBUR (kPa)
w=EXC 1% (10.13) C: Ij=9| EAHE (cn)
f o QEMAI4(1/ 2t ME)
0| 27X Z2Alof <Jah
D= / 4x101xW
7 X Pxfx(10.13)
— 4x101x49 _
D %z X53.3% 1 x10.13 ~3-42(cm)
OIAN, 2= AMXIO|E2 AXZ2E S2(HO| HEY| i SHO=2 Qlet S42 1246t HRUA MESEAZ| HiZfLICH
@ T8 Hmo| M | HolfM=, st7(9 AlttAls RSHAIZ| BEZILICEH
Ol M3, 517 IO\ AN Ht HiY| £ Fotd ASHEE MEELIC
HH% SA |_|-|7=1;';|I‘| 20
E2f6t7| X9 A7t 3% (0.058)
T2t —533kPa
T S2ot77HX19] AIZHE)
. ViR S E= Y3 HSAO AI(0)
§=2.303% ¥ xKxlog 15 =pz S AZED T 7] A5 (0/min)
P1: Ch7| (101kPa)
P2: 8|5t ZIEQE (—kPa)
K: 22 Hmo| Msof| o5t Ag411~14

- 2 101 _ .
$=2.303X 555 *X1-4X100 751-533 =42(¢/min)

B 7] £=420/min0]22 FE HIZE 420/min0l4e| Tg HIo|M S2f 7HsotX|Eh Hi2 MeS 12{6t0]
VTES, VTE6SS| A9 TSHEE dFst= X0l 7HsELC

o

124



